=
W | m z
B = = ol il ]2
%% R RR = UW M ~ W o] %mm
25N _LTLm = Ww.nm k] Y o ol g
& : = = 5
= 8 = o 88 22 8 ol 2 Sgu
™ ok = & D = @ = P w=T
M.I. n wAP“ o= (2 Sn 3= a m (e Qct
(=i i @ s EZ3a ) W 2 o 32 R S 2 gglo gog,;
= 2 | 2
o CONVERSION SCALE FOR ELEVATIONS . i 2gul Zin 12 s Sf uf AL EF ~ |E[|2 58 = E lg|— £8048
=1+ 50 100 150 200 250 300  Metres L e SN £8°038 %] 2 5z 2= E o IEiliE, g 18 5 al S 5 50g
N == RS A (| S| ) I (Sl Sl o B ]| [ O S (] | e e [ o | = L MN_mm_d Ale <+ |so 8o = CW‘mMMthlmRmE Z 8D
=y T T T T T T T T T T T T T T T T T 1 oﬂTnvo [ = > cF 1= §8:23 ﬂAmW.W. [=1 Z WMAO
Sa 200 300 400 500 600 700 800 900 1000 Feet eu=zg UW =) 5 &u EE © 5525 £8%=s | & 209 o -
- © = o)} L2 S s w'S qw o s
Twos o= wz s —|E=2322 E2SE x| 2 o oS gs =z
SEx© <C e eS Zlcels S22z ]|l 8 N 8- w £33 o
o £<OT o= s5 = S|lexEZ 82 gl = =Wy S £ =
4] . Ese s L= | iz i Ea w || 8E2g =52k E|% f5aa 2 =
L < £ b | 22 xe =8 g2 882 2|5 OBl B¢ 0 3
s S0 = L= 2 e oo 2|sBEE=ZBEE F| 2 oguuw =3
58 Sx EM as 9 < 02 io © ~ GIZSEEZS TEES W|E =2n0 25 N
5 g 2 £ g3 " wE o o o U > EZE W,m&;.m 2 % X ouz 22
=g = 4| °8 o 2|2 = 5| E S8xs 3
> 2
= o = o Sle w o= 58
= = ] QEunA 3=
Sy avam 3 S ®
! sa8
~ 5.
P guge &=
___ o ey nI=Y =8
= 2 2 3 o = . =2 i £932000m. N = A 2308 2
s - . s = = *ER
R - 2 Joins 25 L./9 2 mmmEl g
T = 7 T = = <30S Sg2
7~ .0 JJ UT A </ m ) k\\\\\ N R Q BZo,8 =t
O e i A - : . s8=ER g%
S AT SR D S L) i 32228 52
)] Y4 E sEszf 32
ot S E0&LTE SE
> g
(]
@) M ﬂ = (/J & &
/&u\n 4y . =t
\\(\ _ o
)
W» H, =—d
L 2 o
Tll A ™ k)
1S
s o : es
%) =5S
Z = oy DB - =
a0 o = g i=
o8=8 $a.= 238
A ' D d o HE®S £8= se
: o™ BsEs S22 =2
QnCE= @2Ss5< 53
=52 Bges 22
3533 Sgx% =g
225 32F R BE
™ wZ2sz 2338 g8
ag8ss 52%2 535
w25 e 22=2 23
OZ2s S rEyg oo .
2 Eg3c BESEEL S=g%
=383 2288 2S5=
Las2 2352 s&Fe
| O'cSa Eesde o= E
SiR= SPLeT DS
1%) Co -t B€Ye
5 e = DS oW P g.E
wn _rr_um OaoaT n O o=—
0 =]
>
| >
7 w
9]
W @
, G
- <
= =1
= 8= §
B Sy
P = -5 -
w g8 B 2
o QNS =2 =
=228 Bz S
P _.Oﬁmm, n.m.ﬂ. m
= g=EZ¢ 225 =2
Vem.m as =5
e 3 =] 2k O2
L = & b= v =
il i ESw 25
=Zo 22 eEs 2°
—3s, £ =5
ZEo evs T3
osc=¢2 o 5= S=
, _ T o D HnT 3
=55 < ESS 28
o o2=8 <.S =8
— = = SE2» 3®
= o gus S8@ 'S
Z = EEE 29
7 O 333 = E
=
| =
— i
in
£a} o
=
=)
2
3
=
o ™
e |
8
g
gm g
o |l 2
e g
=]
/m ~
—_
= 2 g
(=}
m
-
< Sy O 8|
Z m_
e = b
L S g
0 Z R o o S
= < & 8 H
] =4 E w o m
S g [ i
%Mﬂl = T m &
1%} _m (=
= ) )
S : !
ﬂHuwnﬁ —
= A<= E
T [=]
=4 S[ 8
w O =]
C £ m i .
5 am
O ol
Z ol
e8] H m [
= offl 811
WHS
H m
ofll
o
[ sff &C
S
-
N~ ]
o Hm -
-0
3
t m
W
o _
=)
w
e
e
o
@
QiU
OJQ
ey
L 3
.
Jﬂ» 1
o
3
o
o
|
et
o
;
cEE
Z:z |
oW
o s83
> T ok
P ShR
[
- = a
i 2k
<50
S s
A i i
508
0gZ~
M Ze3B
= Sm & @
o EE®mE 8
o w0 WS¢
— ngCNS =
Zaly 25
asizg 329
A zwiIs =8
ADMm Z<
£ d 0Z28 =%
: ZzaFn =
@) £ T002 2T
o = =
= S $qus Bt
o Zxy ==
1))} 5] 2u27 B2
o)) =003l s
® =23 g2
> g58y =%
—XT3® =E
() .U:WME me
— 22z =F
i =) EGge =8
X = B S SA85 3%
0 n N "wpo08569 <
2 o~

35
34

@ "N "WO000ZEE9

37
36
62°30.




